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332 |HERAK2 34131801202 50023 1 #skskkkkk6036 67.5 7
333 |2 FEH 34131801203 50023 1 sskskskoiksk 2068 65. 5 5
33 |HERKIL 34131801204 50023 1 sskskokskorkk 2440 66 5
335 |HEF RN 34131801205 50023 Iikokskskkkk 3425 57 &
336 |74 T/ERIL 34131801206 50023 1sksksksokirk0025 64. 5 5
337 | &t FEH 34131801207 50023 1 sssksksiksk 0023 i &
338 |HEFIEKIL 34131801208 50023 2skskskskstsksksk 354X i £
339 |5 T ER2 34131801209 500232k kskkkkT 444 T &
340 | %4 TR 34131801210 50023 2skkskosiekk 0025 63. 5 &
341 %% T1EK2 34131801211 50023 2%kkk%%%%0268 63.5 i
342 |HERKIL 34131801212 5002328k 636X R 7
343 |% % T1EK2 34131801213 50023 2%kkskkkxk3549 B &
344 |HF RKL 34131801214 50023 2%kskk545k002 1 B 7
345 |HERAK2 34131801215 500233k %%023X 62.5 i
346 |74 T/ERL 34131801216 50023 3sksksksokstrk 0022 66. 5 5
347 |% % T1ER1 34131801217 50023 3xkkskskkxx()124 70 £
M8 |2 UHTAEEER 34131801218 50023 3%kk%x%%0163 79.5 &
349 |#HERAK2 34131801219 50023 3skketotorskok69 1 X 69 7
350 |74 T/ERIL 34131801220 50023 3skskskkskroksk2 ] 6X Bhot 5




351 |HERRKIL 34131801221 50023 3%k k456909 Bt 5
352 |HEF RN 34131801222 50023 3%kskskk%%%6406 66. 5 i
353 | %4 TiEHKL 34131801223 50023 3sksksktetokskk 7584 59. 5 5
354 |% % T1ER1 34131801224 50023 3xskkskskkkk 1401 it &
355 |74 T/ERIL 34131801225 50023 3sksksksksksesk 2 1 67 Bh 5
356 %% T1ER1 34131801226 50023 3xkkskkkxx0024 66 5
357 |HERKIL 34131801227 500233 %skskkkkk0 043 66. 5 5
358 | T RN 34131801228 50023 3xkkskkkxk0225 61 £
359 |EM AL =HHEK 34131801229 50023 4sksksskkssk k0819 B 5
360 (4T EEK 34131801230 50023 4k k%0024 65 5
361 |% 45 T1ER2 34131801301 50023 4skk%%x%%0960 66. 5 5
362 T RKL 34131801302 50023 4skkskkkxk2 187 45 &
363 |HEFRAK2 34131801303 50023 4%sk5%45%8276 66. 5 5
364 |7 ALk = H A K 34131801304 50023 4skskkskskoskesk 5437 59. 5 5
365 |#HERK2 34131801305 50023 4skskkkxkk8693 Bt 5
366 |MEEELGRAK 34131801306 50023 4sskskskkokkk (0967 60 5
367 |HEFRKI 34131801307 50023 4%sk5%45%9 366 bRt 5
368 |7 E L = H A K 34131801308 50023 4ssksksksokkk 871 1 46. 5 &
369 |HEFRKIL 34131801309 50023 4%skkx5k%3701 i 7
370 |2 FHEK 34131801310 50023 4ssksksksokoksk 2748 58.5 4
371 | %45 T1ER2 34131801311 5002343554 4%5% 1500 Bhot 5
372 |H R RAKI 34131801312 50023 4k x%k8885 Bt 5
373 |HERKIL 34131801313 50023 4%skkk45%2 180 70.5 5
374 [HERAKI 34131801314 50023 43k %7 20X 52 5
375 |4+ FHH 34131801315 50023 4skksksokoksik 1 502 74 oy
376 |4t FHZH 34131801316 50023 4%kskkkk54k576 1 58.5 &
377 |74 T/ERIL 34131801317 5002353459693 66 5
378 |5 E I K2 34131801318 50023 5kskkskkkxk 4885 66 £
379 |HERKIL 34131801319 50023 5%skskkkkkk 7024 72.5 5
380 [#E A1 34131801320 50023 55%skskkkkskok 7665 B 5
381 |EWMMELH=HHEK 34131801321 500235k k45k8480 T %
382 |%HIEKL 34131801322 500235k x%8224 69. 5 i
383 |4+ EHK 34131801323 50023 5sksksktokskeiek(0499 R 5
384 [HFRAKI 34131801324 50023 5skskskskskskkk4246 75 5
385 |74 T/ERIL 34131801325 50023 5sskskskskokkk 2587 67 5
386 | FIEKL 34131801326 500235%kskskkk%%7248 59. 5 i
387 |HFRKL 34131801327 5002353452206 bRt %
388 %% T1ER1 34131801328 50023 5skkskkk%%97 (09 i 5
389 |% 4 T1ERL 34131801329 50023 5%kkkkxxk 1987 66. 5 5
390 %% T1ER1 34131801330 50023 5skkkokekiek8 180 68 5
391 |HERRKIL 34131801401 500236k %5k 1 069 68 5
392 |HEF RN 34131801402 50023 6%skkskkkkk 7547 69 £
393 |HERKIL 34131801403 500236k 1 741 61 5
394 | BT AR EHH K 34131801404 500236kskskskkokeiok00 24 T 7o
395 |74 T/ERIL 34131801405 50023 6sksksksiesiekkk 342 1 Bho 5
396 |%HITEKL 34131801406 500236k kk%%4343 71.5 i
397 |HERKIL 34131801407 500236k kk5k5568 69. 5 5
398 [#H & RAKI 34131801408 5002364k %%%650 1 it 5
399 T AK2 34131801409 500236k ] 837 i 5
400 |# 5 57 K2 34131801410 500236%kkkkx5k2257 68. 5 &
401 |H 5 R K2 34131801411 500236k kkkk3412 62 5




402 (%% T1ER2 34131801412 50023 6%k kx%%2526 67.5 5
403 [# TR K2 34131801413 50023 6%kkskkkkk6T7 T2 63 &
404 |HERAKL 34131801414 500236%kskkkk0kx 1124 B 7
405 |% % T1ER1 34131801415 50023 6%kkkk%%%096 | 69. 5 &
406 |HF K1 34131801416 500236% k5450040 64 7
407 | %% T1ER1 34131801417 50023 6%kskskkkkk 1229 T &
408 | % % TAEK2 34131801418 50023 6%k kxx%k%2121 60. 5 5
409 |[HMEEESRAK 34131801419 500236%kkkk55%2903 68.5 i
410 |%FTERL 34131801420 500236%sskskkkkk6949 67.5 7
411 | %% T1ER1 34131801421 500236%kk555%%2909 69. 5 o
412 |HERAKL 34131801422 500236k %45k 486 74.5 7
413 |HFRKL 34131801423 500236k k%% 048X 76 &=
414 |5 ITEKL 34131801424 500236%sskskkstoksk 7042 R %
415 |% % T1ER1 34131801425 50023 THskokskkkxk3 186 65. 5 &
416 |HF RAKL 34131801426 50023 7skskkkokkok 7883 Bt %
417 [HE K2 34131801427 50023 Takkskkkkk 4418 63 &
418 | %4 T/ER1 34131801428 50023 Tskskkkxx%0068 70 %
419 [HE K2 34131801429 50023 THskokskkkk ] 586 B £
420 |%FTEKL 34131801430 500237 kskskskktsk30 060 60 7
421 |% 5 TEKL 34131801501 50023 7#sskkkx5%0020 69 o
422 |HERRAKL 34131801502 500237 #skskk5k2065 Bt 5
423 |HF RKL 34131801503 50023 8kkskkkxk(0889 60 &
424 |HERAKL 34131801504 500238 %k kkkk4867 R 7
425 |HiF K2 34131801505 50023950236 57 5
426 |2 TEEER 34131801506 50023 9skskskskskoktk (0045 R %
427 | %% TAER2 34131801507 500239%ksksk%%%%0025 64.5 i
428 |HF K2 34131801508 500239%skskkkkk2715 58 5
429 |HFRK1 34131801509 50023 9skkskkkkk ] 549 63 £
430 |HF R KL 34131801510 500239k kx5k5926 64 5
431 |HE RK1 34131801511 50023 9kskeksotorsiok6 126 i %
432 %% T1ERI 34131801512 50023 9skkkxx5kT 66X 57.5 5
433 |[HBF K2 34131801513 50024 0%kkskskkkk 1173 T &
434 |HF R K2 34131801514 500240%kskkkkk1 178 R %
435 |HiF K2 34131801515 50024 05kskskskk:%2499 B 5
436 |4 F RKL 34131801516 50024 0%kskskk4%k5109 Bt %
437 |HF RAKIL 34131801517 50024 sskskskskokxk(0828 Bt 5
438 |H 5 K2 34131801518 500242 %%k %x5k8052 bRt 5
439 |% % T1ER1 34131801519 50024 2%kkskk%%%3422 68. 5 7.5?
440 |%FTEKL 34131801520 50024 2skskskskkskskk 3084 68. 5 7
441 |HEFRKL 34131801521 50024 2% kkk5%5%002 1 56 5
442 % FTEHL 34131801522 500242tk 1 600 B 7
443 | %% T1ER1 34131801523 50024 2%k %k 1 160 T £
444 | X FTEK2 34131801524 500242452560 R %
445 | %% T1ER1 34131801525 50024 2%k k4x%0220 65.5 &
446 |% % T/EH2 34131801526 500242%kskskkx5k2 083 71 7
447 %% T/ER1 34131801527 50024 2%ksksk%%%%4555 65. 5 i
448 |HF A K1 34131801528 50024 3skkskkkokk 7341 65. 5 7
449 |HFRK1 34131801529 50024 3xskkskkkxk 7962 B £
450 |EM E R F HH K 34131801530 50024 3skskskkkk 3523 70. 5 &
451 | % % TAER2 34131801601 50024 3%sksksctotskek 0247 72.5 Py
452 |HEEESHEAK 34131801602 500243555544 4%5064 B %




453 |HR R K1 34131801603 50024 3skskkkkkx2304 65. 5 7
454 | BT AR E R4 K 34131801604 50024 3skskstskskoksksk0 24X 44 £
455 |HR R K1 34131801605 500243tk 4 THX 53 5
456 |HF RAK1 34131801606 50024 3skskskskskskk%41 68 56 5
457 |% & THERI 34131801607 50024 3kl 165 B 7
458 |# T K2 34131801608 50024 3xkkskkkx%351 0 58 &
459 % & T/EK2 34131801609 50024 3skkskskksskkd 1 62 63 7
460 |#F RK1 34131801610 50038 Ik ] 228 73 £
461 |%FTEKL 34131801611 50038 1 sksksksktstoksk 3722 58 7
462 |% % T1ER1 34131801612 50038 1 #skkkxik(0822 55 5
463 | %% T1EK2 34131801613 50038 Ikskskkkkxk3525 71.5 5
464 | BT E R E R4 K 34131801614 50038 skt 1 226 B &
465 |5 K2 34131801615 50038 1 #skskkkkk2016 74 i
466 |HF RAK1 34131801616 50038 Lskskskskskskk%8927 B 5
467 % & THERI 34131801617 50038 Lok | 240 B 7
468 |% % T1ER1 34131801618 50038 Ikokskskknk 1221 T &
169 |2 FHEK 34131801619 50038 skttt 222X 59. 5 5
470 |HF RK1 34131801620 50038 Ixkkskkkxk6025 68 £
471 |HR R KL 34131801621 50038 1 #sskskksrork 0044 53.5 7
472 |EWMGEZ R EHE K 34131801622 50038 skt 0 228 64 &
473 |HE R KL 34131801623 50038 1 #skskksrork ] 646 56. 5 7
174 |2 TEEE K 34131801624 500382k kkkk%5%920 1 53.5 i
475 |EMTE R FHH K 34131801625 50038 2skkskskkksk k0393 63 5
476 |HF RAKIL 34131801626 500382k k%7768 70 5
477 |HE RKL 34131801627 500382%kskkkk5k0902 55 7
478 |HF R K1 34131801628 50038 2skkskkkkk ] 525 T &
479 % & THERI 34131801629 50038 2skkskskskskk5 183 72.5 5
480 |% % T1ER1 34131801630 50038 2%ksksk%%%%9208 64.5 7.5?
481 % HT1EK2 34131801701 500382tk 6423 66. 5 7
482 |HF RK1 34131801702 50038 2%kskskkkx% 2727 Bt 5
483 | %% T/ER1 34131801703 50038 3kkkkkkkk6934 i %
484 | %% T1ER1 34131801704 50038 3xkokskkkkk 2547 T &
485 |HF K1 34131801705 500383 %k kk5k5085 B 74
486 |2 U TEEHER 34131801706 50038 3xkokskkkx%8460 62.5 &
487 |HF RKL 34131801707 500383 %kskkkkkk8745 Bt %
488 | % % TAEK2 34131801708 500383k %% 208X 59. 5 i
489 |4 it #H K 34131801709 50038 3skksisiekk 5983 60 5
490 |2 HEEER 34131801710 500383%kkkkx%%k8746 56. 5 %
491 | % HFT1EK2 34131801711 500383 sksksksstsksksk 1 604 e 74
492 |HFRK1 34131801712 50038 3%kskskkkx%0427 Bt 5
493 |HE K1 34131801713 500383 #skskkkkk8 746 Bt 5
194 |2 TEEEK 34131801714 500384k kkkkxkk1 325 65. 5 i
495 |EMTEZR FHH K 34131801715 50038 4skskssokk 522 | 61 5
496 |2 HTEEER 34131801716 500384k k%% 286 | 77.5 £
497 % & TERI 34131801717 50038 4ok 4429 57 7
498 |HF RK1 34131801718 50038 4skskskkkkk 3622 T &
499 |4 it #H K 34131801719 50038 4skksitotsiskok 0047 B 5
500 |# 5 RK1 34131801720 510108%kkskskkk] 529 47 £
501 | & g EE K 34131801721 51011 3kt 044 1 i 7
502 [# & AKL 34131801722 51011 3skskskkkxk 7423 61 5
503 |#H&F AR 34131801723 510132%%kkk45k0628 65 5




504 |H&FRKL 34131801724 510182k kx5k6829 67.5 7
505 (HMEFEERHAR 34131801725 5101845544003 1 54.5 i
506 |#&F R 34131801726 510184 %skskkk5k2422 B 7
507 |% % T1EHR2 34131801727 51032 Ixkokskskkxk0028 69. 5 &
508 | F RKL 34131801728 510402%kskkk45k2628 56 7
509 |E W7 E Lk = H 4 K 34131801729 510503 %skkskskkk%7 026 i En
510 |74 T/ER1 34131801730 51052 [sksksksokkrk 7927 i %
511 |% % T1ER1 34131801801 51052 2%kkskkkkk5242 B £
512 |HEFRKIL 34131801802 510522 %kkkx55%696 1 i 7
513 |HFRHAL 34131801803 5105223k k45022 | el i
514 |HEFRKIL 34131801804 510522k %35k 1 306 B 7
5156 |7 EEh = H 4 K 34131801805 510623k 3869 B &
516 |H&FRKI 34131801806 51068 1 #skskkrk5027 70.5 7
517 [#H & AKI1 34131801807 510703k 1 325 50 5
518 |4 & RAKL 34131801808 510704%kskkk45k3529 59. 5 5
519 %% T1ER1 34131801809 510722%kk%%%%%6988 62.5 i
520 |#H&F AR 34131801810 510723 %kkkk3k5k1 526 bRt 5
521 |H BT RK1 34131801811 5107 24k kkx%k5525 B £
522 |4+ E K 34131801812 51078 I ssksksetsksksk 5624 64. 5 7
523 | & AEEE K 34131801813 510802%kskkkx%%k0526 52.5 7
524 |42+ E K 34131801814 51081 sksksksksskoksk 1 984 64. 5 o
525 |2 U TAEER 34131801815 510824%xkk%x%%0236 51.5 i
526 | %% LKL 34131801816 510824tk 4760 B %
527 |% % T1EH2 34131801817 510824k %% 379X B 5
528 |HF R 34131801818 510824k kskkk4%k6 268 66 7
529 |H T RK1 34131801819 51092 xskskskskkxk3600 68 &
530 |#EFRAK2 34131801820 51092 1 #skskksiork (0157 63 5
531 [#H & RAKI1 34131801821 51092 2s%kkskkkxk 2222 it 5
532 |HEF AR 34131801822 510923 %skskkkkkx 602X i 7
533 |[#F A K2 34131801823 5110025350335 71 5
534 |% 4% T1ERL 34131801824 51101 1ssttokknn 1763 i %
535 | T RK1 34131801825 511023 %kkskkkx%0045 T &
536 | B AL = HH K 34131801826 511023skksskk55%0695 48 5
537 | F AK2 34131801827 51102338155 64. 5 3
538 |H T RKL 34131801828 511023 %kskkkkkk6 042 54.5 5
539 %% T1ER1 34131801829 511023 %kkskkk4%7919 T &
540 |#HF R 34131801830 511024 %sk5k355k0429 64. 5 5
541 |H BT RK1 34131801901 511025%kkskk4%%8940 70 £
542 |HE AR 34131801902 511028 %skk43x5k0026 i £
543 |EWF AW = H 4 K 34131801903 511028%skskskskkkk0838 B 7
544 |4+ F K 34131801904 511028 %skskk345k0045 67.5 7
545 | &t F A K 34131801905 511 102%skksks54k%2620 61 &
546 |#HE K2 34131801906 511181 %skskksik3913 57 5
547 | B AR = H 4 K 34131801907 511302k 2323 B &
548 | % % TAERK2 34131801908 511304sksksk5k5%2020 64. 5 5
549 |5 % T/EK2 34131801909 51132 Iaskkskskkrk(340 T &
550 |# & RiK2 34131801910 511321 #skskkik 2575 67.5 7
551 |#H B RK1 34131801911 51132 Isskkskskksk() 169 B £
552 |EM T AR = HH K 34131801912 511323skkskk:002X 57.5 5
553 |& ¥R 34131801913 511325skkekoiokkk 542X 63 5
554 |% 4% T1ER1 34131801914 511325%584444%0023 63 %




555 |MIEEE 5RHK 34131801915 51138 L0021 70.5 &
556 | % T1ER1 34131801916 51138 Laskskskkkx%9140 62.5 i
557 |H&F KL 34131801917 511502%kskkkkk%6404 73 5
558 | % T1ER1 34131801918 511502%kkkk%%%8105 71.5 &
559 |EWTE LR = HH K 34131801919 51150255550 060 61 &
560 |# 5 A1 34131801920 51152 Ik x864X 66. 5 i
561 |% 4% T1ER1 34131801921 511523%kkkkxx%2885 i %
562 |% % T1ER1 34131801922 511523 %kkskkkx%0669 71 £
563 |#&F K2 34131801923 511529%kkk45k0023 i 7
564 |HE RAK2 34131801924 511602%kskskkkskok 1715 T 5
565 |74 T/ERL 34131801925 51160255k 0029 B %
566 |45 A2 34131801926 511602%kskskkk%%3242 62.5 i
567 &1t F K 34131801927 511602%kkkk45k0729 51 5
568 [# & AKI1 34131801928 5116023448765 B 5
569 |45 AK2 34131801929 511621 skskoksksk861 1 54 5
570 [# & AK1 34131801930 51162 Ixkkskskksk6 189 Bt 5
571 |#H&F AR 34131802001 51162 1 sskkskrsork 4 22X 71.5 5
572 |H BT RK1 34131802002 51162 Lxskskskkkxk0540 57.5 7.5?
573 |® % ITEK1 34131802003 511622kt 3124 i £
574 |H BT R K1 34131802004 511622%kkk%x5£0020 72 &
575 |4+ ¥# K 34131802005 511622k k%4922 62. 5 7
576 |% % T1ER1 34131802006 511622%kkskkkx%1920 T &
577 |74 T/ERL 34131802007 511622sk5kkkkk2244 68 %
578 |t iAEEH | 34131802008 511623 %kkskk4%%006 1 67.5 5
579 | & A EE K 34131802009 511623k 4 427 65. 5 5
580 |4t F K 34131802010 511623 %kkskkkkk 7325 56 &
581 |4 & RK1 34131802011 511623 %kkkk345k0022 T %
582 |# T RK1 34131802012 511623%kskskkk%%3483 65. 5 7.5?
583 | &t A EE K 34131802013 511623 %skskskkstksk 0228 i 7
584 |#F A2 34131802014 511623 %kkskkkxk4397 71 5
585 |#H&F A1 34131802015 511623 %kkkk45k0662 Bt 5
586 | W17 H £k = 4 K 34131802016 51168 skt 002 1 59 &
587 | % % TAER2 34131802017 51168 skskskskkrkd 583 58.5 5
588 |% % T1EK1 34131802018 51168 Ixkkskkkxx0065 B &
589 |74 T/ERL 34131802019 51168 ks 2829 Bh 5
590 | % T1EH1 34131802020 511902%ksksk%%%%0228 69. 5 i
591 |[#H & RAK2 34131802021 511923 %5435k 057 58 5
592 |H BT RK1 34131802022 511923 %kskskkkx%5204 65. 5 7.5?
593 |®F I K1 34131802023 512322skskskskkskskk 796 1 i £
594 |H T RK1 34131802024 51302 Lxskskskkkxk 7445 64 5
595 |EM AL = HH K 34131802025 51302 [ sskksktskork 745X B &
596 [# & AK1 34131802026 51302 Iackokskskkkk 7427 Bt 5
597 |HEF AR 34131802027 51302 #skkkkokk 556X 59 5
598 [#H & AK1 34131802028 51302 1skskskskskskskk51 45 56 5
599 |HF RK1 34131802029 513022%kskkkk5k00 24 B 7
600 |# 5T RAK1 34131802030 5130223%kskskkkx%(0 1 86 62 &
601 |EM AL =HHEK 34131802101 513029skkstkoksickk 589X B 5
602 |% % T/EK2 34131802102 513029%kskskkkx%4721 59. 5 7.5?
603 | &t T EHE K 34131802103 513030kt 2028 i 7
604 | &t F A K 34131802104 513030%kskskkks3920 59 5
605 |#HFRKI 34131802105 513030%skskkkkk0327 61.5 5




606 |41t FZ K 34131802106 513030k kk5k2027 B 7
607 [#H & AKI1 34131802107 51303 0%kkskkkx%0026 i 5
608 | & TR 34131802108 5130305kttt 0048 B 5
609 [# % A K2 34131802109 51340 1sksksksksksksk:6735 B 5
610 |#HFRKI 34131802110 513401 sk 0028 60 7
611 |EW7 A LR = HHE K 34131802111 513701 sskskskstoksk 6629 54 En
612 |HEFRKI 34131802112 513701 #skskkkk0046 62 5
613 ¥ T RAK1 34131802113 51370 Iakokskskkxk(0048 77 =
614 |HEFRKI 34131802114 513722k kk5k5229 i 7
615 | W7 E L = H 4 K 34131802115 51382 [k 7481 39.5 o
616 |% % T/EK2 34131802116 51382 2skkstclotstokk 7204 70 &
617 | &t F 34131802117 513902tk 674 1 72 &
618 |% % T/EK2 34131802118 513902kt 9002 68. 5 5
619 |EWFEER = HH K 34131802119 51392 Lk 7510 B &
620 |4t H K 34131802120 51392 2sksksksksoksisk 0760 54 &
621 %% T1ER1 34131802121 5201 1 Ixckkskskokxk(0028 73 &
622 | & AEEER 34131802122 5201 1 2kskskskksteksk 2827 65 5
623 %% T1EK2 34131802123 52012 Lk %802 B £
624 |2 UHTAEEER 34131802124 52210 1skksolotsiokk 3644 61.5 5
625 |4t #HAEK 34131802125 522101 ssksksktotoksk 7628 53 4
626 ([HEEFEERHR 34131802126 522122 %%k k45k6028 64. 5 5
627 |EWTE R E R K 34131802127 522125skskskskskosiesk 929 63 &
628 |% % T/EK2 34131802128 5221 25skksotsiekok ()1 40 65 5
629 |EW7E LR = HH K 34131802129 522126kt 504 1 B &
630 |45 RAKL 34131802130 522127 #sskkkkkk0025 60. 5 5
631 |#HFRK1 34131802201 522130%ksksk%%%%0822 65. 5 i
632 |HEFRKI 34131802202 5222265k k2826 T %
633 | T A2 34131802203 52242 4%k kkx%0233 53 £
634 |HFRKI 34131802204 52242 5%kkkkkkk9 247 62 5
635 |#HE Rl 34131802205 52242 6skskkskskokskesk 2040 i &
636 |74 T/ERIL 34131802206 5227 25s%skkkskskoksk T8SX Bhot 5
637 |H T RAK1 34131802207 5301 25%skkskkk %% 2721 62 &
638 |H T RKI 34131802208 530325k kk5k0369 59. 5 7
639 |E W7 E Lk = H 4 K 34131802209 53212 skttt 1624 50. 5 &
640 |HF RK1L 34131802210 532127tk 0022 72 5
641 [#HF RAKI 34131802211 5321 28%skkskkkxk3320 Bt 5
642 |HEF AR 34131802212 53213 1 kskskokorook (0722 69 5
643 | T RK1 34131802213 53233 Iackokskkkxk 2823 B £
644 |HFRKI 34131802214 53292 4%skkkkkk 128 i £
645 |HE RAK2 34131802215 53322 1 ksksiteseskskek00 15 B 5
646 |% % T/EK2 34131802216 6104040526 59. 5 &
647 |E W EE R E KA K 34131802217 6104243558330 1 04 59. 5 i
648 |H T R 34131802218 610502k kkkkk5k522 1 68. 5 5
649 [#H & RAKI1 34131802219 6123223k k%2725 B 5
650 |45 RKL 34131802220 612724k kskkkkkk 1 422 76 £
651 |% % T1EK2 34131802221 6201023k k%x%5026 T &
652 |HKEEE LR K 34131802222 620102skskskskskkkk4 345 B 5
653 |# T RK1 34131802223 62012 Lskskskkkxk5327 64.5 i
654 |5 T1ERK2 34131802224 62042 1 sstsksksttksk ] 825 i £
655 |H T RK1 34131802225 62050 2%kkkk%x%0127 Bt 5
656 |#HFRKIL 34131802226 622102%kskkkx5k0 028 62. 5 5




657 |1t FHZ K 34131802227 622103 %kskkkx5k0 020 B 7
658 | W17 H Lk = H 4 K 34131802228 62220 sk 3627 58 &
659 |HEFRKI 34131802229 62220 1 kkskokokorkor ] 822 B 7
660 |% % T1ER1 34131802230 62222 4%k k% x%0028 B &
661 |EWT AL =R K 34131802301 622322k kskkkkkok (0422 63.5 %
662 | % T/EK2 34131802302 622425k k%%%006 | T &
663 |7 %5 TIER2 34131802303 62272 2ssksksk5%3%0025 B 5
664 |MEEELGHRAK 34131802304 62272 2sskskskkokokok 1 426 it 5
665 | W7 E LI = H A K 34131802305 6227265k kkskkk% 205X 50. 5 5
666 |HE R K1 34131802306 629282 2skkkkokk %0029 % 5
667 |HFRKI 34131802307 650102%kskkkx5k6548 64 5
668 |% % T1ER1 34131802308 65220 kkskkkxk6029 T &
669 |#HFRKI 34131802309 65232 Tkkskkkorkor ] 423 68 5
670 |t A EE K 34131802310 65412 Tk %%002X 72 £
671 4T RAKL 34131802311 654128%kskkkkkk 1 646 69. 5 5




